FEREARGIEH #) 3 A (CEAL64F) 3 AR~

JLix JLix JLix

X a7 A i X a7 A i X 5 A ] A

% LS At % % LS At iy % LS i LS
f (L | 302,280| 325,547| 627,827| 254, 749|% B HT 5, 756 6,230 11,986 4, 129|%r AT 536 595 1,131 380
B | 212,873 223,179| 436,052 163,982)i1 F A 2, 046 2, 180 4,226 L1sop k& 1,185 1,293 2,478 803
HoL | 42,483| 46,607 89,090 34,3997 B At 2,770 2, 889 5, 659 1,800\ R #F 1, 466 1, 640 3,106 979
£ B | 33,556| 35,840 69,396| 26,833|#y FH M 3, 700 3, 880 7, 580 2,359 Fn & 423 430 853 298
M fF tH| 27,818| 30,531 58,349 22,080|4 Ot HT 6, 069 6,450 12,519 4,256 % HT 2,595 2,878 5,473 1,832
Ho | 17,123 18,369 35,492  11,919|M8 5 HT 9, 343 9,898| 19,241 6,392 % il 420 465 885 342
| 27,476|  29,374| 56,850| 18,926|%F & HT 3,191 3,527 6,718 2, 354 A HT 815 965 1, 780 657
m % | 10,619 11,916 22,535 8, 435|H. . HT 5, 362 5,766 11,128 3,796 £ 7 FAS 432 470 902 319
#OR | 11,222 12,359 23,581 8,197|%& #f ur 7, 840 8,570 16,410 5,031|F W K 324 378 702 225
fi m7 il 13,698| 14,706| 28,404| 10,867|% & T 2, 693 2,956 5, 649 1,792|8% % mT 5, 587 5,992| 11,579 4, 044
i} FH| 699, 148| 748, 428 | #t##HA | 560, 38775 - WT 2,838 3,172 6,010 1,950\ M T 1,793 2,014 3, 807 1,417
(R 4,986 5,406 10, 392 3, 701|E f@ HT| 11,381 11,996 23,377 7,430\ o T 5,574 5,990| 11,564 3, 825
A T 3, 298 3, 653 6, 951 2,479\ #E HT 1, 353 1,431 2,784 895|4s % WY 3, 310 3, 426 6, 736 2,338
0 s 1| my 2,901 3, 157 6, 058 2,4494t = HT 3,077 3, 351 6, 428 1,861|F 4k HT 3, 559 3,871 7,430 2,614
L) 7,153 7,838 14, 991 5, 440/& B HT 4, 060 4,343 8, 403 2,708k R WY 2, 320 2,431 4, 751 1,697
B ET| 12,424 13,495 25,919 8,923k M9 HT 2, 692 3,035 5, 727 2, 121 H E & 4 686 762 1, 448 452
R P HT 2,436 2, 694 5, 130 1, 6761l I T 1,932 2,049 3,981 1, 341|768 3€ & A+ 820 910 1,730 540
Re (L HT 4, 286 4,599 8, 885 2,928|fi W 1,385 1, 546 2,931 1, 120126 & oy 6, 208 6,922 13,130 4, 830
e 2, 559 2,935 5, 494 1,920k & HT 1, 881 2,042 3,923 1, 178|/E & HT 3, 644 3,998 7,642 2, 680
H 4 W7 4,111 4, 580 8, 691 3, 0894 4 HT 1,237 1, 344 2,581 828|5% H HT 1,720 1, 840 3, 560 1, 252
ok HT 2, 549 2, 836 5, 385 1,839|% £ oy 1,938 2,035 3,973 1,200|# = mT 3, 532 3,828 7, 360 2, 642
(=) 1,951 2,204 4, 155 141403 w6 mr 1,501 1, 698 3, 199 1, 073]/, 7 1,677 1,785 3, 462 1,166
& HT 5, 985 6,672 12,657 4,656 1L HT 4,343 4,795 9,138 2, 913\ >k g T 2, 905 3, 169 6, 074 2,264
4B ONT 3, 659 4, 094 7,753 2,809|% & T 7, 559 8,162 15,721 4, 7948 Kk HT 3, 697 4, 036 7,733 2,571
=R/ N T 9,403| 10,279| 19,682 6, 369|%5 JR HT 1,670 1, 886 3, 556 1,268/ JsU HT 3, 286 3, 627 6,913 2, 506
£ iy HT 6, 235 6,621 12,856 4,273/8 i W7 5,510 6,067 11,577 3, 867|/In | 58,514| 63, 715| 122,229| 42,673
WOy BT 7,933 8,359| 16,292 5,083[3 H #f 855 893 1,748 538|MT A Et| 244,365 265,328 509,693 171,866
/N | 81,869 89,422| 171,291| 59, 048)/1 | 103,982| 112,191| 216,173| 70, 145| 1% G| 943, 513 | HHRHHHRY | HHHHHHEE | 732, 253










